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6-4 PROPERTIES OF QUADRILATERALS

Measure the appropriate angles and lengths of each quadrilateral to complete the table below.
Put a check in the column if the quadrilateral has that property.

Trapezoid
Parallelogram
Rhombus
Square
Rectangle
Property Trapezoid Parallelogram | Rhombus Rectahgle Square
Opposite sides are parallel.

Opposite sides are congruent.

All sides are congruent.

Opposite angles are congruent.

All angles are right angles.

Consecutive angles are supplementary.

Diagonals are congruent,

Diagonals bisect each other.

Diagonals are perpendicular.

Each diagonal bisects two aingles.
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QUADRILATERALS

Complete each of the following questions by naming
quadrilaterals and segments and calculating angles and

lengths.

Ll =

L2=

85°

SPOT isa

3. D 8.6 cm U

K C
DUCK is a
DK | | £DUC =
KC= cm £ZDCK =
ZKCU =

DK = cm

6 cm

&
CROWisa

ACRW is a(n)
ASOW is a(n)
ASOR is a(n)
RW =

CO=

CS=

cm

cm

c<m

K

HAWK is a
AHAK is a(n)
AHAW is a(n)
AHAT is a(n)
Ll =

L2=

£33 =

/4=

ZHAW =

LAWK =
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» 0o ZODE=110°
DV =6.18 cm
E ﬂ ES=2.6cm

v

DOVEisa
DS = cm Ll=
EO = cm Ly=
ZEVO = L4 =
ZDEV = L5 =
Ll= 6=

S + AW

1 +5cm
Y

N t 2 A
SWANisa
WN = cm
SA = cm Ll=
SY = cm 2=
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8. Answer the following questions True or False. If false, explain your reasoning.

a) All rectangles are squares

b) All squares are rectangles

¢) If a quadrilateral has 4 equal sides then it is a square

d) If the opposite sides of a quadrilateral are equal it must be a rectangle

e) If a quadrilateral has diagonals that bisect each other, it must be either a square or
a rhombus

f) If the angles in a polygon add up to 360°, then it must have four sides

g) If the opposite sides of a quadrilateral are equal and parallel, it cannot be a trapezoid
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6-5 Problems
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# 7 -11 are challenge/extra questions

6-5 PROBLEMS

1 6.
A Find p and the area of the
x= p+d rectangle.
R ] O
D 11-
£C= P
2p-1
B c i
2.
F G 7. The coordinates (-5, 4), (1, 4), and (-5, -2) are
de+9 = e= three of the vertices of a rectangle. Find the
e~ L. — coordinates of the fourth vertex.
E /E=
- 8. Coordinates (—4,-0) and (2, 2) are two vertices of an
isosceles triangle. Which of the following points
could be the third vertex: (2, -2), (8, 0), (4, —4)?
3.

9. (-4, -1), (-2, 2), and (2, —1) are three vertices of a

L
7 p= parallelogram. Find all possible coordinates for
I— the fourth vertex.

10. Find the area of the triangle with vertices (0, -2),
(2,4), and (8, -2).

4. 11. “Ili:f

4 of a circle is blue, --is red, and the rest is green.

a) How many degrees is the angle at the centre of
the green sector?

ZQNM = b) If the radius of the circle isl2cm, how long is

the curved edge of the red sector?

ZMNL =
ZMLN = e
5.
ZOAE =
Find x and and the perimeter ZJOL =
of the triangle.
3x-20
ZOLY =

ZL/



13. The ratio of angles in a triangle is 1:5:6. Find the measure of each angle.

14. Angle A is twice as big as Angle B, and Angle C is 30° more than seven times Angle B.
If these three angles are in the same triangle, find the measure of each angle.
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15. The ratio of angles in a quadrilateral is 1:4:5:8.
a) Find the measure of each angle.

b) What special quadrilateral could this be? Justify your answer.

16. The three angles in an isosceles triangle are such that the smallest angle is half of
each of the two larger angles. Find the measure of each angle.
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17. Anangle of "5X + 25" degrees is co-interior with an angle of “"8X — 27" degrees.
Find x, then give the measure of each angle.

18. If 5x+5,7x—9, and 10x + 30 are the measures of three angles in a triangle, what
type of triangle must it be? Justify your answer.
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